ALfL

C2{i.

B2

D14z

C1{i

A2

D2fi

B1fiz

[5B72 7 W 2ARE]

g RN

My

63

A1 I RN
/IIEEEZ

ANE R

W Z54

65

64

/N
R Fnz

ook
i SR

60

JNFA - 5LPE
FhE] sk

50T R

WA B2

63

65

o
AZTH 2

Fuil B
P AR

60

20234 HFEEXTINAKRE R

PRfEH - =35 -

1. AlfL

3. CIfi

4. BIfL

¥ LL: T&2(L CHUSS — M i EALOM

4H16H(H)

[ 727 L AR ]

INEDIeT

)L -

e e

62

ARYTIRACF
o S %0 -

HmEERT
I PR

62

/INEEIRR

x|

NEDR T

A)llmEF

62

AT =AT—

AL{L

F2fr

E1fr

D14z

CI1{iL

F14iL

E2fi

B1fiz

(372X T N AAHE]

Ea s S

JilE #&

60

A1 I AR
Ay

A b —RR
RYT AR

60

60

Iy |

OB

[
o S0 -

62

it &

T LA

MW e

e 2

61

65

meE] Ak
B Hr

1/3

o BF R

Jilg &

60



2/3

SIS < B 1 S R S AL N 7 1) | BT




3/3

[B1H7 A7) [ Lc+# T N 2FiE] [R5 T AT Ek]

A Uy—=49 1 2 3 4 | Bk | ERE A J—=9 1 2 3 | Wik | JEGL A =49 1 2 3 | Wik | JEGL
W@ AL TR R \ B P
e wem 56 | 64 (0f52) o1 SRS Garre) 60 | 60 |2mok| 1 A A o) 60 | 62 [2mom| 1
AR BA o AT (5o7192) LK AA BRI
Sk S w65 65 [z2mow| 1 gt en | 06 61 | oup| 2 L S @i | o6 62 [ 2
S L wA 2T 4o WA K
B e O 46 56 |op2ik| 4 W opmy T 06| 16 omsb| 3 /Tiﬁ %E (LGM) 26 | 26 ofsal| 3
I B/ (74RTO) 56 65 1B 1K 3><1
HHORR (7U-) (0.50) B )—4 1 2 3 | Wk | Efr B )—¥ 1 2 3 | W | EhE

KIEEE (pgs LI L B L e .
B U—%5 1 [ 2 [ 8 [ a [k LSRR 1015 low)| i i ol o 2
7R 2}

- » NI (e " I BB (F—) "

DIE W () 61| 56 K| 9 2\ mx ol 70| 61 61 |2mo 1 Wy (r—z) | 10 36 |omk) 3
: » S T (FY—) " BE ik o
%ﬁ%&i’ (o1 16 65 | 1| 372 3|kt sr (o) | 36| 16 okl 3 e we LGM) | 61 | 63 omsork| 1
a5 | 65 65 |2mom| 1 c 47 1 | 2 | 3 | k| c y—%5 1 | 2 | 3 | mik ] JEne
N— B EERT om0 " i SLEE (LGM IR s
R G 56 | 56 | 4 1 [BEERE o700) 65 | 62 [2mom| 1 e Gon 65 | 46 | | 2"

{ KE— .
IR IRALC T TNy 1518 [ 2 (Teamipl bl 151 *1
2 gy 7| 96 671 | en| 2 B R Crion | D6 61 | ep| !
c y— 1 2 4 | IFi7 e P % .
)=7 8 Bt | T 3| B B e | 26 | 16 o 3 i (589 64| 16 IR g
JER e 60 | 60 amsose| 171 = 04D
it %gj( BLoY) | g6 36 |omen| 3 D V=¥ 1 2 3 | Wik | IEAE
s R 77) _ . Nl AP 63| 56 | |
A sEE (FU-) 06 26 |omo| 4 ¥ 1 BSS—LFEICLBIESR SR R (0.55)
Tl e A ) 2 EEMRICEDIEN BRI (<700 | g6 65 UBIRL| ey
TS (7 07) 63 | 62 o] 91 HE JUE (blbLY) 0.45)| 3
AIIEEE (F—2) il e | 65 | 56 IR e
HEE S (0.50)

D V=¥ 1 2 3 4 | W] Efr F U=y 1 2 3 4 | BB | ahz E V=4 1 2 3 4 | Wik | NafAL
NI I T N R N S E
e 1) 36 60 [imu| 27| [2[gmem 5] 26 65 [wn| 7| [2] fin 1 weo | 65 36 [0 5"
LA 53 (LGM) Rl B ) " BABRIIT (527 492) UBIEL| ey
EnEsH (U—) | 20 36 |omt 4 B de (oo | 16 06 |omit| - 4 WL bed (k)| 26 65 | gap)| 4

e it e 45 B - 1 o 11
S 06 | 63 | 372 SRS oo 56 | 60 | 372 B L e 63 | 56 (2#55) 2!




